1 McMaster 90935A135 | Black Phillips Self-Tapping Screws 4-40, 5" | 88
2 | McMaster 91855A430 Steel head cap nuts 6-32 2 |
3 | McMaster | 91251A150 | Black Steel Socket Head Screws (6-32, 3") | 2
4 | McMaster | 91772A151 Steel Pan Head Phillips Screw 6-323" | 2 |
5 | McMaster | 90272A148 | Bjack steel socket head screws 6-32, 3" | 4
6 | McMaster | 94320A644 | Nylon Thumb Screw Slotted 3"-20, 11" | 8
7 | McMaster | 7130K102 Nylon Cable Tie, 4" Long, £" Width 11°
8 McMaster 7517A1 Nonwhitening Cement for Acrylic 1
9 | McMaster | 91253A110 Hex Drive Flat Head Screw (4-40, 3") 41
10| McMaster 99022A101 Steel cap nuts, 4-40 4
11| McMaster 1292N11 Multipurpose Neoprene Sheet 1
12| McMaster 53325A62 JIS screwdriver, number 1 1 |c
13| Servocity 525118 C1 Spline Actobotics Dual Servo Arm 1
14 | Servocity 32755S HS-755MG Servo 1
15| Servocity 575116 Large Servo Plate A )
16 Jameco 252833 UL listed 12V 1.25A Power Supply 1
17 LED Under Cabinet Lighting, 12W 900Im, | 2
12V, 3000K warm white (including diffuser) D
NOTE: Please purchase diffuser
separately if it's not included
18 uscutter ORS6311210 | Gray: Oracle-631 Color # 074 Middle Gray | 5
Matte —
19 6mm black ABS
E
Dept. Technical reference Created by Approved by |
Leslie Shaw 10/26/21
Document type Document status
Title DWG No.
SF 1.8 3D Model F
Rev. Date of issue Sheet
1/3




4 | 5 6 7
|
. 180 _ A
No tap necessary
° o 1/4" - 20 tap
(o) o
B
o o o o screw holes on bar Rubber adhesive
0o 00 do not need to be tapped
e 8 o o
o ) o o -
fo) fo) o fo) /@
——
(@)
Q (O ) PO0000E C
-
6 al | o| 9 |
(o) (o) o] (o)
oo oo
e g o o
D
! o 160 Q! o o
—
o
— Ay
. . . -
Dept. Technical reference Created by Approved by |
Leslie Shaw 09/07/21
Document type Document status
Title DWG No.
Sensor_Fusion_1.8 F
Rev. Date of issue Sheet
| 2/3
4 | 5 6 7



| 2 4 | 5 | 6 7 | 8
Torx self-tapping screws |
1 Arduino UNO rev3 1
M3 torx counter-sunk scre S2 Google routing board (1.6mm thick) 1 |A
l 3 Google controller enclosure (6mm abs) 1
v.@ 4 | Jameco 101179 2.1x5.5mm 5V through hole, right-angle 1
@ barrell jack |
5 | digikeys | TAP106K 10uF, 16V, 10% tantalum capacitor 1
016CRS
6 mouser |651-17557| 1x2x, 200 mil (6.08 mm) pictch, pluggable | 1
36 Phoenix Contact header B
7 mouser |651-17570| 1x2x, 200 mil (5.08 mm) pitch, pluggable 1
19 Phoenix Contact connector
8 | digikeys |952-3308- | 1x3x, 100 mil (2.54 mm) pitch, through-hole | 6
@ © ND male header —
9 | digikeys |952-3308- | 1x8x, 100 mil (2.54 mm) pitch, through-hole | 1
ND male header
"@"‘ 10 | digikeys |952-3308- | 1x4x, 100 mil (2.54 mm) pitch, through-hole | 1
ND male header c
11 | mouser | R30-3000 [M3-0.5, 6 mm male-female standoffs (6 mm| 4
HOME VIEW BOTTOM VIEW 602 width)
12 | mouser |R30-10011| M3-0.5, 11 mm female-female standoffs (5 | 3 |
02 mm width)
.0 l . — 13 | digikeys |36-9191-3 M3-0.5, 6 mm screws 3
-ND
) 14 | mcmaster M3-0.5, 8 mm flat-head screws 4 o
¢ D D ¢ 15 5V, 15 W UL-listed power supply, 2.1x5.5 | 1
@ ) mm plug (motors)
RIGHT VIEW BACK VIEW
E
Dept. Technical reference Created by Approved by |
Leslie Shaw 10/20/19
Document type Document status
Title DWG No.
SF_1.8 F
Rev. Date of issue Sheet
|
2 4 | 5 6 7 8

3/3



